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GURU HARKRISHAN PUBLIC SCHGOL
{Running under the aegis of the GHPS (ND) Society;
HALF YEARLY EXAMINATION
SESSION- (2017 - 18)
SUBJECT: CHEMISTRY
| CLASS -XI
TIME : 3 HRS. MAX. MARKS: 70

General Instructions:-
(i) All questions are compulsory.
(i) QI to O3 are very short answer type and carry I mark each.
~ (i) Q6 to 010 are also short answer type and carry 2 mark each.
(iv) O11 to 022 are short answer type and carry 3 mark each.
(v) Q23 is value based questian and sazpies ¢ PGS
(vil Q24 to Q26 are long answer type and carry 5 mark each.
(vii) Use of calculators is not allowed, Log tables can be used for calculation.

Q1. Express the following in the scientific notation.
(a) 0.0025 (b) 234,000

Q2. Write the electronic configuration of chromium (z=24), g

Q3. What is the basic difference between the term el gain enth: Py & electro negativity?
Q4. Dastinguish between a sigma and a pi bor
Q3. State Charle’s Law.

Q6. “Which out 0f NH; & NF; has higher




7. A vessel of 120m] capacity contains a certain amount of gas at 35%¢ and 1.2 bar pressure,
The gas is transferred to another vessel of volume 180ml at 35°. What would be its
pressure?

Q8. Calculate the -_nioia:rity of NaOH in the solution prepared by dissolving its 4g in enough
water to form 250ml of the solution.

Q9. Using s,p,d notations, describe the orbital with the following quantum numbers,
(a) n=1, 1=0 (b) n=3, =1 fc) n=4, [=2 (d) n=4, |=3

"

Q10. Use molecular orbital theory to explain why the Be; molecule does not exist?

Q11. Explain the structure of COy™ ion in terms of resonance.

Y

(a) What is common in them?
() Atrange then in the order of increasing ionic radii.

(¢) Define the term used for such species.

Q13. 50kg of N, & 10kg of H; are mixed 19 produce ¢ ' amount of NH, formed.
Identify the limiting reagefit in the production o -

Q14. What are the frequency and wavelength of a phe d during o trans ition from n==
Statesto n=2 state in the hydrogen atom? ; : -
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QLJ An r:lul:v:nt W Ith mass po &1 contains 31.7% more neutrons as compared Lo proton. Assign
a symbol o the element.

i

Q16. Compare the relative stability of following species and indicate their magnetic properties.
0, O2” Oy (Superoxide) O, (Peroxide).

J17. Culeulate the volume oceupied by 8.8g of CO, at 31.1°C and 1bar pressure. R=0.083 bar L
K mol™,

Write shon note on:- -
14, Photeeleetrie effect o
(b) Hleisenberg’s uncertainty principle. :

Q20. Write short note on:-
(a) Hund’s Rule of maximum multiplicity.
(b) Pauli’s exclusion prirciple.

(21, Deseribe the hybridization in case of PCls. Whi O as compared to
cquatorial bonds? '

Q2. The density of 3M solution of NaCl is 1.25g/ml.
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-{\a} W bt are te
(b) What could
(c) What is Gle
(d) What is Smog?

24 A compound contain g : - 24.27% carbon & 71.65% chlorine, Its molar mass
15 95.960, Whal are th T %’ﬁmlﬁﬂud; rinulas?
O
& welding fuel g8s. conaing carbon & hydrogen only, Burning a small -sample of it in
O3y 2en ywa 3.38¢ of CO, 0 6908 of water and no other pmdum&. A volume of 10.0L
timcasured at 8TP) 'of this weIdmg 245 is fourd to weish 11 6g. Caleulate (i) Empiricai
Sormmla (i Molar mass of the gas (i1 Molecular fennata,
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o) Explain w hy cation are s.caller and anions larger in radi lhan thmmw AT 2
Cir - ;
-
(2) Explain sp” Bvbridisation in ethane,
(5) Define tonization enthalpy & Hat the factors o which it depends. F s

o0 L annedi LRGN are contains 79 G2 tuka,::n & 16

o _';u i T FD"“S.}LT g «,'Tl'h.
Hisiiure of SESES T Cvittder is 23

star. What is the paria) pressure of dioxysen & neon in
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(Ueasity o8 gip= 12X & R=0.082 bar dmPl Jm!




